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M<=O < 6O74FL E F4><< 65 =4FO65=<5<, >4> 
< O, GF>5O ?>?GG<?EO G>474==O= D47<5D.

�5?45< >5D475F

�O 4>?6=O E6O74FL >5D475F 4  =5646=>, <E?>?L-

7G5F5 6O EGM5EF6GNMGN EE5<G G7>D4 <?< E>7445F5 

E>5EF65==O5 <=EFDG>F<<. �?O 4<74==4 E >4<=>G=O-

<< <>F<64<< O 45?4N 4>EF4F>G=> 5>?LL>= >5D475F, 

GF>5O 6 =57> ?><5M4?EO >4<= D<EG=>> < ?D<<5D=> 

3 E< D>=4. �?O MF>7> 4<74==4 O E6O6G >4<= <7 E4<OE 

5>?LL<E >5D47F>6 < 5?47>44DO MF><G ?>=<G, >4> 

5G45F 6O7?O45FL 7>F>6O= 64D<4=F.

�?O 6O74?LM<F, >>F>DO5 =<>>744 =5 E>74464-
?< 4<74== E6<F5D>6, MF>F 6<4 4  <454?L=4O 

>F?D46=4O F>G>4. &5?L=O5 D<EG=>< <>6=> E>7-
4464FL =4 E6<F5D5, E6O74==>< >5OG=>= ?<F56>= 
7?44LN, < 6 D57G?LF4F5 <>65F ?>?GG<FLEO <=>-
65EF6> >D<7<=4?L=OE < ?D5>D4E=OE <745?<=. 
�D>EF>= E6<F5D E >4=<< 4>>GD4F=O< D<EG=>>< 
?57>> E6O74FL, < 6O7?O45FL >= 5G45F OD>>.

� MF>< E6<F5D5 O 5G>64?L=> =4G744 D475D>E4?4 
=5E>>?L>> D47=OE E>744==OE <=>= D<EG=>>6, 
>>F>DO5 6O E<>65F5 <7GG<FL =4 E. 124 < 125 
6 D4745?5 «�F<FO < F65FO».

�4> ?D46<?>, 6O74FL >4<=>G=O5 <>F<6O 
?GGL5 6E57> <=F4DE<5=. -F4 F5E=<>4 ?>4D4-
7G<5645F <E?>?L7>64=<5 >F45?L=OE >FD57>>6 
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A

B

C

D

E

I

K

G

H

F

O

N
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M

J

10     �<74== E6<F5D>6 E G7>D4<<

%>EF46?O5< ??4= <7<5D5=<= < 45?45< 6OG<E?5=<O 4?O <=EFDG>F<=

�?4= <7<5D5=<O 4?O E6<F5D4 E >4=<< <>F<6><

A 54,5 E<

B 56 E<

C 7,5 E<   

D 23,6 E<   

E 32,4 E<   

F 17,7 E< 

G 19 E<    

H 7 E<   

I 8 E<      

J 2 E<      

K 12,75 E<  

L 40,75 E<   

M 6,5 E<   

N 47,25 E<  

O 24,5 E<    

=4 ?D>EF>= D>D<5. �?>F=>EFL E>EF46<?4 22 ?5F?< 

< 28 DO4>6 =4 10 E< ?D< <E?>?L7>64=<< ?DO6< Alice 

Starmore® Hebridean 3 Ply < E?<F 4<4<5FD>< 4,5 <<. 

�EE>4O <7 ?>?GG<6L5=EO ??>F=>EF<, O ?D5>5D47>-

64?4 =5>5E>4<<O5 <7<5D5=<O 6 FD55G5<>5 G<E?> 

?5F5?L < DO4>6, >4> ?>>474=> =4 E?54GNM5= EFD4=<F5.

�?46=O< ?D5<<GM5EF6>< E>744=<O E>5EF65==OE 

<=EFDG>F<= O6?O5FEO E6>5>44 6O5>D4 ?DO6< < 6>7-

<>6=>EFL E6O74FL E6<F5D ?N5>7> D47<5D4 < D>D<O. 

�4?55 O D4EE>46G, >4> O 45?4?4 6OG<E?5=<O 4?O 

EE5<O 44==>7> 4<74==4. %=4G4?4 O E>EF46<?4 ??4= 

<7<5D5=<= < =4<5F<?4 =5>5E>4<<O5 <7<5D5=<O 
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K 12,75 E< = 28 ?. &5?5DL O <>7G D4EEG<F4FL 

>>?<G5EF6> ?5F5?L, >>F>DO5 =G6=> G546<FL E >46-

4>7> >D4O 744=5= EF>D>=O 7>D?>6<=O, 6OG<F4O K 

<7 G, F. 5. 42328 = 14 ?.

�G6=> G546<FL 7 ?5F5?L E >464>= EF>D>=O =4 6 

DO44E J. �?O D>D<O O 74>D>N 3 ?5F?<, 74F5< 2 ?5F-

?<, 74F5< G546?ON 1 ?5F?N =4 >D4N E?54GNM<E 2 

DO4>6. �EF46L<5EO 3 DO44 ?D>6O6G ?DO<>. $>D-

<<D>64=<5 ?56>7> >D4O 7>D?>6<=O =4G<=45FEO =4 

1 DO4 6OL5 ?> F>= 65 ?D<G<=5, GF> < E ?5D54=5= 

G4EFLN 7>D?>6<=O.

L 40,75 E< = 114 D.

M �O6<F5 F4> 65, >4> < C; E?<F4<< <5=LL57> 

D47<5D4 E6O6<F5 D57<=>G, ?D< MF>< 7445=EF6>646 

?D<<5D=> =4 25 % <5=LL5 ?5F5?L, G5< 4?O �, 4?O 

5>?55 ??>F=>7> ?D<?574=<O. / E45?4N ?D<546>G 

4> ?>?=>7> >>?<G5EF64 ?5F5?L =4 ?>E?54=5< DO4G 

D57<=><.

N 47,25 E< = 104 ?.

O 24,5 E< = 54 ?. &5?5DL O <>7G D4EEG<F4FL >>?<-

G5EF6> ?5F5?L, >>F>D>5 =G6=> ?D<546<FL E >464>= 

EF>D>=O DG>464, 6OG<F4O O <7 N, F. 5. 104 2 54 = 50.

�>?GG45FEO, GF> =G6=> ?D<546<FL >4> <>6=> 

D46=><5D=55 25 ?5F5?L E >464>= EF>D>=O =4 114 

DO44E L. �?O 65D=>7> D4EG5F4 114 DO4>6 D4745?<F5 

=4 25 ?D<546>> = 4 E >EF4F>>< 14.

/ E>GG =5<=>7> EG7<FL DG>46 GGFL 6OL5 <4=65F, 

?>MF><G ?5D6GN ?4DG ?D<546>> O 45?4N, ?D>6O746 

8 DO4>6, E?54GNMGN ?4DG ?D<546>> 4  6 ?>E?5-

4GNM5< 6-< DO4G, 4 74F5< 6 >464>< 4-< DO4G. 

� >>=F5 O ?D>6O7O64N 7 DO4>6 557 ?D<546>> 

< G546>>.

&5?5DL O <>7G >F<5F<FL 6E5 <>< 6OG<E?5=<O =4 

EE5<5, GF>5O ?>?GG<?EO >>=FGD, ?>>474==O= =4 

E. 9. �>E?5 MF>7> O <>7G =4D<E>64FL <7>5D465=<O, 

< 4<74== 4?O 6O74=<O 7>F>6.

�?4= <7<5D5=<= 4?O E6<F5D4 E >4<=>G=O< 
<>F<6><

�E?< 10 E< = 22 ?. < 28 D., F>744:

A 54,5 E< = 120 ?.

B 56 E< = 157 D.

C �5>5O74F5?L=> D4EEG<FO64FL >>?<G5EF6> 

DO4>6 4?O D57<=><. / >5OG=> ?D>EF> 6O6G 4> 

=G6=>7> D47<5D4. 'F>5O E45?4FL D57<=>G FG65, 

O <E?>?L7GN E?<FO <5=LL57> D47<5D4. �E?< 

O E>GG, GF>5O D57<=>4 ?D<?574?4 ??>F=55, O =45<-

D4N <5=LL5 ?5F5?L (?D<<5D=> =4 10 % <5=LL5, 

G5< 4?O A) < 45?4N ?D<546>G > � 6 ?>E?54=5< 

DO4G D57<=><.

D < E � E=>64 =5>5O74F5?L=> ?D5>5D47>6O64FL 

MF< <7<5D5=<O 4?O 44==>7> 4<74==4, F4> >4> =5 

=G6=> D>D<<D>64FL ?D>=<G. �<5EF> MF>7>, >>744 

O 4>=4G 4> <7<5D5=<= �, O ?>EF46?N <4D>5D =4 

<5EF> ?D>=<O.

F 17,7 E< = 39 ?.

G 19 E< = 42 ?.

H 7 E< = 19,6 D. �5?L7O E6O74FL F>?L>> ?>?>6<=G 

DO44, ?>MF><G O >>DG7?N F<DDG 6 5>?LLGN EF>D>-

=G, F. 5. 4> 20.

I 8 E< = 18 ?. &5?5DL O <>7G D4EEG<F4FL, E>>?L>> 

?5F5?L =G6=> G546<FL E >464>= EF>D>=O ?5D54=5= 

G4EF< 7>D?>6<=O, 6OG<F4O I <7 G, F. 5. 42 3 18 = 24.

�>?GG45FEO, GF>5O ?D<44FL 7>D?>6<=5 >>DG7?GN 

D>D<G, =G6=> G546<FL 12 ?5F5?L E >464>= EF>-

D>=O =4 20 DO44E �. / 74>DO64N 3 ?5F?<, 74F5< 

2 ?5F?<, 74F5< G546?ON 1 =4 >D4N E?54GNM<E 

3 DO4>6 < G546?ON 1 =4 >D4N E?54GNM<E 4 G5D5-

4GNM<EEO DO4>6. �EF46L<5EO 6 DO4>6 ?D>6O6G 

?DO<>.

�D<<5G4=<5. $>D<<D>64=<5 ?D46>7> >D4O 7>D-

?>6<=O (E<. EE5<G E >>=FGD4<< =4 E. 9) =4G<=45FEO 

=4 1 DO4 6OL5, F4> >4> DO4 <7=4=>G=O<< ?5F?O<< 

4>?65= 5OFL ?D>6O74= 4> =4G4?4 MF>7> D>D<<D>-

64=<O. �<5==> ?>MF><G ?<=<O 7>D?>6<=O =4 MF>= 

EF>D>=5 6OL5 =4 1 DO4.

J 2 E< = 6 D. -F4 <5D>4 ?D5>5D47G5FEO 6 E?54GN-

M55 =4<5>?LL55 >>?<G5EF6> DO4>6.



12     �<74== E6<F5D>6 E G7>D4<<

%6<F5D 

E ?>6F>DONM<<EO G7>D><

74E>G5FEO. / 5O =4EF>OF5?L=> D5>><5=4>64?4 6O74FL 

6E5 G7>DO F5E=<>>= E ?D>FO6>4<< ?> >DG7G, 45?4O 

EF<>< =4 >F65DEF<OE. -F>F <5F>4 5OEFD55, ?D>M5, 

< D57G?LF4F ?>?GG45FEO ?GGL5, G5< ?D< 6O74=<< 

>F45?L=OE 45F4?5=. -F> E6O74=> E F5<, GF> F4> G7>D 

6O65FEO ?<F56O<< ?5F?O<< =4 ?<F56>= EF>D>=5, 

< 6O 6E5744 =4 =57> E<>FD<F5. ,6O F4>65 =5 =G6-

=O, 4 =4 <5EF4E EF<>>6 =5F =5>5E>4<<>EF< ?DOF4FL 

>>=FO. 

�5?45< >5D475F

/ D5L<?4, GF> 5G4G 6O74FL >DG7>6O< E?>E>5><, 

< <=5, >>=5G=> 65, =G65= >5D475F. &4> >4> O =5 5G4G 

6O74FL <7=4=>G=O5 DO4O =4 E6<F5D5, O F4>65 =5 E>GG 

<E 6O74FL =4 >5D47F5, 654L MF> <7<5=<F =4FO65=<5 

=<F< (DO4O <7=4=>G=O<< < ?<F56O<< ?5F?O<< 

<<5NF D47=GN ??>F=>EFL). �?O <<<F4F<< 6O74-

=<O ?> >DG7G O 5G4G 6O74FL ?<5> =4 46GE GG?>G=OE 

E?<F4E, ?<5> =4 >DG7>6>= E?<F5, ?D>6O7O64O F>?L>> 

?<F56GN EF>D>=G < >5DO64O =<FL 6 >>=F5 >464>7> 

DO44. 'F>5O <75564FL 6>7=<>=>65=<O D4EL<D5=-

=OE ?5F5?L ?> >D4O<, O ?> <5D5 ?D>46<65=<O 5G4G 

>D5?>> 74FO7<64FL >>=FO =<F5=. 'F>5O E45?4FL >5-

D475F, O E6O6G 464 7>D<7>=F4?L=OE D4??>DF4 G7>D4 

(E<. %E5<G 2 =4 E. 14), =45<D4O 40 ?5F5?L < ?D>6O7O-

64O 40 DO4>6. -F>7> 5G45F 4>EF4F>G=>, GF>5O E>D>L> 

D4EE<>FD5FL G7>D < F>G=> <7<5D<FL ??>F=>EFL.

�?>F=>EFL E>EF46<?4 28 ?5F5?L < 32 DO44 =4 

10 E< ?D< <E?>?L7>64=<< ?DO6< Alice Starmore® 

Hebridean 2 Ply < E?<F 4<4<5FD>< 3,25 <<.

�7 =4764=<O G7>D4 ?>=OF=>, GF> >= ?>6F>DO5FEO 

=5?D5DO6=> >4> ?> 7>D<7>=F4?<, F4> < ?> 65D-

F<>4?<. �<74== 6O?>?=O5FEO 6 >?4EE<G5E>>= <4=5D5 

?> 6E5= ??>M44< E6<F5D4. / E>744?4 MF>F =55>?LL>= 

G7>D, <E?>?L7GO <45N ?<EF>4 E ?D>6<?>4<<. $>D<4 

E6<F5D4 F4>4O 65, >4> < 4?O ?5D6>7> 4<74==4, => 

<5D>< ?>4>=4GF 4?O 5>?55 EFD>==>7> G5?>65>4.

&4> >4> G7>D =5?D5DO6=> ?>6F>DO5FEO ?> 7>D<7>=-

F4?<, 4?O =57> <454?L=> ?>4>=45F E?>E>5 6O74=<O 

E ?D>FO6>4<<: >464O= DO4 6O?>?=O5FEO 46G<O 

F65F4<<, D>=>6O< < F65F>< G7>D4, ?D< MF>< =5<E-

?>?L7G5<4O =<FL ?D>FO7<645FEO 64>?L 744=5= G4EF< 

D45>FO. �>6=> 6O74FL >4> >4=>6D5<5==> 46G<O 

F65F4<<, F4> < <5=OFL <E 6 >464>< DO4G, >4> 64< 
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�>E?54=<= DO4 D4??>DF4

�5D6O= DO4 D4??>DF4

�>E?54=OO ?5F?O 
D4??>DF4

�5D64O ?5F?O 
D4??>DF4

�>6F>DONM<=EO G7>D E>EF><F <7 <7>5D465=<=, 

>>F>DO5 ?>6F>DONFEO 7>D<7>=F4?L=> < 65DF<-

>4?L=>. �46=> GEF4=>6<FL G<E?> ?5F5?L < DO4>6 

6 >4=>< D4??>DF5, GF>5O G7>D F>G=> 6?<EO64?EO 

6 ?D>5>F. �?O MF>7> O E=4G4?4 ?D<EFG?4N > 7>-

D<7>=F4?L=O< ?5F?O< < =4G<=4N D4??>DF =4 

F5=FD4?L=>= ?5F?5 4  6 MF>< E?GG45 ?5F?O ?D>E>-

4<F E>6>7L ?5D6O= DO4 7>F>6>7> D<EG=>4 < G5D57 

F5=FD E?54GNM57> DO44 D<EG=>4, >4> ?>>474=> =4 

%E5<5 1 6OL5. -F4 F5=FD4?L=4O ?5F?O ?D54EF46?O-

5F E>5>= ?5D6GN ?5F?N D4??>DF4. �6<74OEL 6?56>, 

O EG<F4N ?5F?< 4> F5E ?>D, ?>>4 =5 4>=4G E=>64 4> 

F>= 65 F5=FD4?L=>= ?5F?<. $4??>DF 74>4=G<645F-

EO ?DO<> ?5D54 E?54GNM5= F5=FD4?L=>= ?5F?5= 

< E>EF><F <7 22 ?5F5?L.

�5>7=4G45< D4??>DF G7>D4 < 45?45< EE5<G

%E5<4 1. 

�>6F>DONM<=EO G7>D
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� G7>D5 F4>>7> F<?4 <<55F E<OE? =4G4FL D4??>DF 

DO44 6 F5=FD5 D<EG=>4, < MF> 5O?> 5O <454?L=O< 

D5L5=<5<. �4=4>>, ?>E>>?L>G D<EG=>< =5E<<-

<5FD<G=O ?> >55 EF>D>=O F5=FD4?L=>7> DO44, 

O EG<F4N, GF> E MEF5F<G5E>>= F>G>< 7D5=<O ?GGL5 

=4G<=4FL DO4 F4<, 745 O >5>7=4G<?4, < <<5==> ?>-

MF><G O E45?4N MF> <5EF> =4G4?>< D4??>DF4. �> <5D5 

46<65=<O 665DE O E=>64 EG<F4N DO4O 4> F5E ?>D, 

?>>4 =5 4>=4G 4> ?5D6>7> DO44. $4??>DF 74>4=G<64-

5FEO ?DO<> ?5D54 MF<< DO4>< < E>EF><F <7 32 DO4>6.

&5?5DL O <>7G >F<5F<FL =4 EE5<5 >4<= D4??>DF, >4> 

?>>474=> =4 %E5<5 2 =<65. %>EF46?O5< ??4= <7<5D5=<= < 45?45< 
D4EG5FO

�?O 6O74=<O E6<F5D4 ?> >DG7G O E>EF46?ON ??4= 

<7<5D5=<=, ?>>474==O= =4 E?54GNM5= EFD4=<F5. 

�E?>?L7GO E6>< <7<5D5=<O ??>F=>EF<, O <>7G ?D5-

>5D47>64FL <E 6 ?5F?< < DO4O F>G=> F4> 65, >4> 

6 ?5D6>< ?D>5>F5. �G<4N, F5?5DL 6O 7=4>><O E ?D>-

F5EE>< D45>FO, ?>MF><G 74FD>=G F>?L>> <><5=FO, 

E?5F<D<G=O5 4?O ?>6F>DONM57>EO G7>D4 ?D< 6O74-

=<< E6<F5D4 ?> >DG7G.

�>47>=>4 G7>D>6 6>>DG7 E?<=>< < ?5D544

�4 D4??>DF G7>D4 =G6=> 557 >EF4F>4 D4745?<FL �, 

?>?=GN L<D<=G E6<F5D4 ?> >DG7G. �=5 =G6=> 

280 ?5F5?L =4 100 E< L<D<=O. �5?<< 280 ?5F5?L 

=4 D4??>DF 20 ?5F5?L, ?>?GG45< 14, GF> >7=4G45F, 

GF> G7>D 4>?65= ?>6F>D<FLEO ?> >DG7G E6<F5D4 

14 D47. �>=5G=>, G4EF> D57G?LF4F >>47O645FEO =5 

=4EF>?L>> G4>5=O<, < 6 F4>>< E?GG45 ?D<E>4<FEO 

6=>E<FL =5>>F>DO5 <7<5=5=<O. �E?< F<DD4 =5<=>7> 

=54>FO7<645F 4> <454?4, <>6=> <7<5=<FL >5M55 

>>?<G5EF6> ?5F5?L. �> =G6=> ?><=<FL, GF> <7-74 

MF>7> <7<5=OFEO <5D><, ?>MF><G 44==>5 D5L5=<5 

<<55F >7D4=<G5=<O. 'F>5O <4>E<<4?L=> E>ED4=<FL 

65?45<GN L<D<=G, <>65F ?>FD55>64FLEO <7<5=<FL 

D47<5D D4??>DF4 ?5F5?L.

�4?D<<5D, 5E?< 5O <5D>4 � 5O?4 D46=4 120 E<, 

<=5 5O ?>=44>5<?>EL 336 ?5F5?L. �4 D4??>DF 20 ?5-

F5?L ?>45?<FL MFG F<DDG 557 >EF4F>4, >>=5G=> 65, 

=5 ?>?GG<FEO. �4=4>> D4??>DF 24 ?5F?< ?>4>L5? 

5O <454?L=>, < 6 <F>75 ?>?GG<?>EL 5O 14, ?>MF><G 

O <7<5=N G7>D, GF>5O D4??>DF E>EF46?O? <<5==> 

24 ?5F?<, >4> ?>>474=> 6 %E5<5 3 =4 E?54GNM5= EFD4-

=<F5. 'F>5O <7<5=<FL D4??>DF, O >F<5F<?4 24 ?5F?< 

=4 <<??<<5FD>6>= 5G<475 < =4<5F<?4 D<EG=>< =4 

4 ?5F?< 44?LL5 4DG7 >F 4DG74, G5< 6 >D<7<=4?5. �4F5< 

O 4>546<?4 =5E>>?L>> =55>?LL<E D<EG=>>6 < D4EL<-

D<?4 «D4765F6?5=<O» 6 >E=>64=<< D<EG=>>6 =4 1 DO4, 

GF>5O 74?>?=<FL ?D>55?O.

�4> ?D46<?>, 5E?< G7>D E<<<5FD<G5= >F=>E<F5?L=> 

F5=FD4?L=>7> DO44, =4G<=4FL ?GGL5 6E57> <<5==> 

E F5=FD4. �E?< G7>D =5E<<<5FD<G5=, F> ?>4>=45F ?N-

5>5 ?D<OF=>5 7?47G D4E?>?>65=<5. / E45?4?4 4<74== 

?>6F>DONM<EEO G7>D>6 E G5F><< =4G4?>< G >D4O, 

?D>6O74==O< F>?L>> >4<= D47 6 =4G4?5, < E D4??>D-

F>< DO44, >>F>DO= =4G<=45FEO 6OL5 =57>. %>D>L<< 

?D<<5D>< O6?O5FEO <>= >5?LFE><= G7>D =4 E. 87, 745 

D4??>DF DO44 =4G<=45FEO 6 F5=FD5 ?5D6>7> 5>?LL>7> 

D><54.

$4??>DF 20 ?.

32

31

30

29

28

27

26

25

24

23

22

21

20

19

18

17

16

15

14

13

12

11

10

9

8

7

6

5

4

3

2

1

%E5<4 2



A

B

C

D

E

I

K

G

H

F

J

L

M

N
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A 100 E<  

B 55 E<      

C 7,5 E<     

D 22 E<      

E 33 E<      

F 16 E<      

G 18 E<   

H 7,5 E<     

I 7,5 E<     

J 2,5 E<     

K 14 E<   

L 41,5 E<   

M 6,5 E<     

N 23,5 E<   
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